AvG5e|WFTL - 0
A sequel ko AvGsia [WFbTa

(This wioke 4is wok cell - contained.)
Like in AvGs2a [WFbTa, we address e ‘arol:‘em

of Consl:ruc.l:.inj a program  square saal:is%t‘mj
Cmnc{:iowa\ s\oeai{:iml-.{on

{ b = [ul} Square {\1 =Wl m ED{]} n

Like «n ﬂszza,/NF'G?a, the solukion consisks
of Ehree sLePs, dealing with  three different

concerns (&) the correckiess of the [imal answer,

(cd) the desired in-situity, and (i) the i plemen -

kakiorr of thre aljorf!-.‘nm iv] kerms of the array H
Unlike 4n AVBs20/WFETa, we shall not reqvm"r-e

that b rewmains a ring . The "resuh:in_j program
will be E’.c;,ua”g efficient, much dhorter in kext, lul

'recvuire o &J_::E’\'IUS more complicaked corTectress
arcjumen’c_. ¢ existevice o} &uc.lﬂ Qa 6o‘ukion Was

Cirst poinl:eal out to wms 1:35 J-O\aP van der Woude.

(t) f‘\ja\in we choose
P hom [pX] = (Wlm (U]

6 an Arvariant. This kime we decide bo dhrink
X l".)_lj orie dement abk a kirme.

T‘ﬂe ?Irsl: Version
l:.\aew I:Jecome_s

{h =Lulj
P,X: P)(: L {’P}
3 OLQ X # QMPLQ
— %,\f: %Y:X
{Hence we have in combinatbion with P
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hm (e Y] = (Ul m (U], or

-wusing the ovie - i vok vule From Yirig

Calculvtﬁ, ‘oiVo['. -
hw lpglm [fv\?] = (Ul w [Ul, so thal

¢ skakements }

s hiz=h m [pq]
4 \91 Xi= CVJ Y
{ree.sf:asolislo 'P}

od
{X:emp&g A P, hence
hm lp] = (W m [U], so that |
shi=h m

= [P]
[establishes b= [U] m (U] .

(IIJ T‘qe de_sfr-gc{ Avy ~ S':]L.M.N::j AS LD&::GCL on d’)e.

invariance ©

Q: Q0 v Q1
where Q0 and QI are given by
Q0 h [FPGX]

Q1: h=[Fplm [GX] .

The condition wi” inberit ks kruth a“:ernalzinglg
from QD and Q1, ko skart with from Q0 by
Uﬂe inibiali zakion F, G:= lea[:_lj_, ew il"j . For
later purposes We shall show se‘oarakeg how @
Q:lze\a of the re\ae‘:i[:u'ow transforms Ehe krubh of Q0

imko the truth OC Q1 and vice versa.
{hw=T[ull
P,X : la)(:: u_
:F G = e.mpl—_g, emPE5
{Q0, bhence Qi
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s do X # emply

4

{Qo) {Qi}
q/‘,\{: q‘_\f = X
{\aence {1qewc,c ]
b= [FPG@YJ} h=[Fpl m [Gq Y]}
shisbhmlpg]
{"mﬁce erwce ]
h= [FpGg Y] m [pgl, h= [Fp] m LG Y] o [pgl,
or - TN ca‘cm UG — oy }"m Ca culins
h= [FeY1m [Gq] § h = U’F YGqll
s EG:sG,Fp
(hence (hence
h=1GY] m [Fql} h={GYFq]}
s X2 gy
hence { \nemie
h=|GX]m [FP]J h = [GX FP]»
e. Q] e, QO]
od
shi=bhm [F]

Noke When Q1 45 eskablished iog o Qb - Q1
bransition | Seq uence G+ empty , S0 thal  the
upression [GX] 0CCUrTing 4y Qi 4> a ‘eﬁa!
eXpression .

(End of Nole.)
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(iii) In this last step we are comcermed withy the
Qlémina‘:iow ol {:\Oe thoughl \fa\ria.i::lfs, ir \oar(:ic_u.‘ar
with the eliminakion 6% the 3Mm~d X # empty
and Ehe Comr:ulzal::‘on of 4 - e [ivst elevment
of a nonevnpky X .

Guided by Q0 we would royrose
Lo: g = firsk . (XFp) A v = first. (Fp)
Guided by Q1 we would propose
Lt g = Cirst. (XG) A r= tivsk, (GX)

Since we are riok a!o‘e Lo abs‘:ro‘c{: ?r"om E\ne déc erewnces
bekween e expressions Lo and 14 s Wwe choose
Lo wmainkain

L. Lo « L1,

Like @ . L will inherit its bruth Q‘Eernabinﬁb
from L0 and L , ko skart wH:l’) From L7

bﬁ E\qe anikiali zakion q(, = H‘a_‘ e ({:r"om
RO avd  Ehe TEpresen Lakiovial Ccmvenlzion). RBoth
in case L0 and in case L1 the 3uarci X # ewmply
is axpre.-aseo( b_g q,#'r, oand  An looth cases
the skatement (?/a\(: ci/\f = X s a d'ﬁ‘o :

The ivivariance of L ds achieved by
{Lo} {Lt and X=qY}
shish m [py)

{h=TFp Y] m (G, {b=[FrYGql

Frowm thre previous version, Lromm the previous versiors,
and  T= !Fi’r‘sl:.(\_:\o), ond 1= Fivst. (GX),
FT’om L.0 } F"’O'm L1 e, T= First. (G Qa\‘l’)]’
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T LT

= tirst, (YFp g = rirst. %

i = !:irs!:o(FP\O} ~ 7= First. (GCI’)}
s EGi= G Fp

{%,_. Livsk. (YG) {g = First, (YFq)

A~ = first (G\f)} A v=fivst Otﬁ/)}
5P X:= C}.\{

fLs) {Lo} .

The allimalte Erogram Lext 4s

{P = C-I&’Llj &‘Q’\ﬂ’l?‘ﬂ‘: 0( d’){ "r‘f\r)ﬁ ko \Qe .?:GVVIOJ"E?D&}
j.: = H'PJP
5 QA0

a0 g F ¥
- H: Swayp (P,c],)

S §i=bps Py
od .

ertarre

EI'HDU‘J oNev,
24 %-E\alzemloer" 1985
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